N.B: 1. All questions are compulsory ; -
2. Working notes shall form part ofynuf(\ens@vers -

e

3.

[Time: 2% Hours]

Use of simple calculator is permitted

1. Attempt any two of the following (7.5 Marks each) Rt L) 3 ¥ s ‘15
A) Compare the portfolio on performance using the Sharpe s, Tre%ogs*end lensen’s Me'a_sures' and C rhfne t.
Assume Risk Free Rate of Return is 8%. A A G A LY T s TS
Portfolio Average Retuin Staﬁda(d_ Dewat:on Beta
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2. Attempt any two of the fol[owmg (7 5Marks each) 15
A) Mr. Kartik Sheth has an offer to stairt"e new busmess w:th mmal capltal mvestment of Rs. 700,000.
Yeirs S0 S B ' 5 6
..PAT{B&};? 10@;0021 g 1p .000. | '95,000 | 98,000
Depreciation is. fS%:on &tral&ht Line BaSJs ST " :
Evaluate the praject-“on'the' b3515 of N_et Pr ent \{a’ofu takin
3.. 15
. ’g\::_l'_(:g' Boom | Normal | Recession
: Probabnhtv of Occurrence 0.35 |05 0.15

‘|'Rate of return Qh stock X (%) | 20 30 40

Wt AT v | Rate of Return on stock Y (%) | 40 30 20

‘l}a eCéICUIate the expected return ‘and standard deviation of return on both the stock.

»2) “’“lf you could mvest | _-;e;thei‘ stocks X or stock Y, but not in both, which stock would you prefer?
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B) In January, 2015 Mr. Abhishek purchased the five company shares: __ ““ R AR
Company | No. Of Shares | Purchased Price(Rs): A A 4 &,

ALTD 100 290 B LR

BLTD 100 190 RS N et O

CLTD 100 100

DLTD 100 390

ELTD 100 290

He paid brokerage of Rs. 8,500.
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BLTD
CLTD
DLTD
ELTD
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ALTD - |40
BLTﬁ:-,: o N )
CLID L <240~
JDLTD - ] 461
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He paid brokerage of Rs. 9,700, S
Calculate the}zhofdi'ng, r\i_e,-l"'i'od téfu'rﬁfﬁ-'

Attempt any two of the followmg 75 Marks eaq h} AV

A) SQQO Rs: bonds‘wlth a 12% coypoh rafe ature Jr:;B ?"bars and currently sold @ 96%. Is this bonds a desirable
mvestmeﬁt whnse reqmred rate of retu?‘n is. &D%?_ @&
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B C} P’ Ltd _Q’; Ltd and three Hafferenﬁcompames each of them paid dividend of Rs. 8 per share. Find out the
o m lntnnsic value nf the Sharebf>;1ll tbe three\compames if growth rate is same for all of them at 7% and the
m”‘requrred rate of returms 14%* 16% and 18% for ‘p’ Ltd., ‘Q’ Ltd and ‘R’ Ltd. respectively,

AQs)., You age a PM&[Portfoho Marga%ement Services) consultant. Mr. Ajay, an entrepreneur (middle aged) wants 15
© 5 advice: on’ de‘pfoymg his surplus funds of Rs. 20 lakhs in various financial instruments. Present to him any five

PSR i_gmfes;m’ant;s'éhemés‘r_n_entionmg various merits and demerits of each scheme. Assuming he is willing to take
o G I’lSk tcihe extent of 30,4: of his funds.
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